
numatic.comnumatic.com

Original InstructionsOriginal Instructions

NKU 30,31,32 HFNKU 30,31,32 HF



2

1 

 9 

8 

7 

6 

5 

4 
4 

3 

2 

10 

12 

11 

5 

12 
12

12

5

6

7

8

9
10

2

3

5

4

11

4

1



3

ITEM DESCRIPTION QTY
1 NKU R HF BASE KIT 1
2 FRONT UPRIGHT 1
3 REAR UPRIGHT 1
4 REAR DOOR ASSEMBLY 2
5 PANEL MOULDING 2
6 WIDE SHELF WITH BLOCK 1
7 HALF SHELF 1
8 NARROW SHELF 1
9 LEFT HAND DOOR ( LABELLED B) 1
10 RIGHT HAND DOOR ( LABELLED A ) 1
11 TOP TRAY MOULDING 1
12 DOOR MOUNTING MOULDING 2



4

NKU 30/31/32

M5 X 30 M5 X 20
M10

X 4
X 8 X 4

X 4

X 4

X 4

X 2 X 1

X 12

No8 X 1 1/2 Inch

M5 X 25
M6

M10



5

NKU 31 x 2 
NKU 32 x 4 

NKU 31 x 1 
NKU 32 x 2 

NKU 31 x 1 
NKU 32 x 2 

NKU 31 x 1 
NKU 32 x 2 

NKU 31 x 1 
NKU 32 x 2 

NKU 31 x 4 
NKU 31 x 8 

NKU 31/32 HF

M5 X 30

M5 X 45



6

NKU 30 , 31 , 32HF 
219649 

M10 

x 12 

219839 
NO8 X 1 1/2 INCH 

x 4 

219008 
M6 

x 4 
338853 

M10 x 1 x 4 

x 4 x 4 

NKU 30/31/32R HF
M10

No8 X 1 1/2 Inch M6



7

NKU 30 , 31 , 32HF 
219649 

M10 

x 12 

219839 
NO8 X 1 1/2 INCH 

x 4 

219008 
M6 

x 4 
338853 

M10 x 1 x 4 

x 4 x 4 



8

x 2 x 2 

299020 
M5 X 30 

? ? 
299020 

M5 X 30 M5 X 30



9

x 2 x 2 

299020 
M5 X 30 

? ? 
299020 

M5 X 30 M5 X 30



10

? 



11

? 



12

x 2 

219054 
M5 X 20 

x 2 

219054 
M5 X 20 M5 X 20



13

x 2 

219054 
M5 X 20 

x 2 

219054 
M5 X 20 M5 X 20



14

A B A



15

A B B



16

x 4 

299020 
M5 X 30 



17

x 4 

299020 
M5 X 30 M5 X 30



18

x 4 

219057 
M5 X 25 



19

x 4 

219057 
M5 X 25 M5 X 25



20

NKU 31,32 HF NKU 30 HF NKU 30R HF



21

NKU 31,32 HF NKU 30 HF NKU 31/32R HF



22

221150 
M5 X 45 

904520 

x 4 
x 2 

31.A 31.A

M5 X 45



23

221150 
M5 X 45 

904520 

x 4 
x 2 

31.A M5 X 30



24



25



26

NKU 31R HF



27

NKU 32R HF

PAGES 22 - 27
31.A

X 2



numatic.comnumatic.com
28

903653 01/24 (A07)


